Best model for HELP J104010.969+572642.913 at z = 1.244 x2=3.71
OPTx2=5.51 IRy?=1.94 threshold (OPT IR)=17.96 [um]

> 1 Stellar attenuated
10 1 Stellar unattenuated
] —— Dust emission
g —— AGN emission
101 4 = Model spectrum
E ® Model fluxes
1 M oObserved fluxes
— 100 -
> 3
=
S
= 1071 3
X g, e
5 E S i 1 ) W
L ] L
1072 4
1073 3
X ]
a0 1
© 1 —4= (Obs-Mod)/Obs
3 ]
S
n
] 0 [N S ——y Ve | SR R <SSR S | S SR 4 [y g Sy Sy ey S SR S S S ————
o ]
) ]
2 1
S ]
o -1 r CIGALE
]
[a'd

10° 10! 107 103 104 10°
Observed wavelength [um]



